c. THHARLVYEREDHUE (HaiEREL)

(HEANT %)
= B3 B
Kgmbe | ArEEE | EAJREE | EAJEET
i 1 84 i 1.3 3.0 2.4 0.8 | A 0.3
S 194 i 3.5 5.1 1.7 3.0 1.3
S ik 204 i 2.8 1.4 3.8 2.5 | A 2.6
S 2 L i 3.1 3.3 1.2 2.5 1.8
4~9J] 3.2 3.8 4.3 2.5 2.4
10~ 3 3.0 2.9 1.0 2.5 1.2
2244~ 12 5.4 7.2 6.3 1.6 1.6
4~9J] 5.3 7.0 6.2 1.6 1.5
10~12f 5.5 7.6 6.5 1.6 2.0
11/ 6.7 8.6 7.8 5.7 3.2
1241 5.4 7.4 6.5 4.4 2.0
d. 1#&-YBHOBUE HEIERTLL)
(HEANT %)
= B3 B

Kgpbe | ArEEE | EAJREE | {EA BT
i 1 84 i Al3| A37T| A22]| A08]| A0
S 194 i 0.1 | A 20| A 0.4 0.2 1.1
S ik 204 i AO05| ALO| ALL| AO14 2.7
S 2 L i A0G| AILG| ALS5| AO00 0.5
4~9H] AO0T7| A20| A1L7T| A0 0.1
10~ 3 A041| AL2| A1L4 0.1 0.9
FriooEa~12/ | A 0.8 | A 1.5 | A 1.0 | A 0.6 0.5
4~9H] A0S| AL3|ALO| AOS 0.6
10~12f A09| A20| A11]| A0S 0.1
11/ Al7| A25|A19| AL5| A07
1241 AlL0O| A24| A13]| Ao038 0.4
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